
Quiz #4 MATH 54, Fall 2016, Section 224

Name:

Section:

1. Find a basis for the column space of A, where A is the matrix given below. What is the
rank of the linear transformation x 7→ Ax? (The rank of a linear transformation T is the
dimension of the range of T ).

A =

2 −1 11
0 −2 2
1 −1 6



2. Consider the basis B = {1, 1 + x, 1 + x + x2} for P2. Suppose v ∈ P2 is such that
[v]B = (1,−1, 0)T . What is v?

3. Find the coordinates of the vector (0, 1)T with respect to the basis {(2, 1)T , (1, 2)T} for
R2.
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